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dkslZ 'kh"kZd %  

Course Title : Genetics 

dkslZ dksM % ;w0th0ch0okbZ0 

Course Code: UGBY&07              vf/kdre vad% 30  

                                                         Maximum Marks: 30 

uksV % nksauksa [k.Mksa esa fn;s x;s lHkh iz”u vfuok;Z gSaA 

NOTE: All questions given in both the sections are compulsory. 
  [k.M & ^v*     (Section ‘A’) 

nh?kZ mRrjh; iz”u          (Long Answer Questions) 

vf/kdre vad% 18 

Maximum Marks: 18 

 
 uksV% izR;sd iz”u dk mRrj 500 ls 800 “kCnksa esa fy[ksaA lHkh ds vad leku gSA  

NOTE: Answer each question in 500 to 800 words. All carry equal marks. 

.  

1. State Mendal’s Law of inheritance. 

es.My ds lHkh fu;eksa ds ckjs esa foLr`r tkudkjh nsaA 

2. What is gene interaction? Describe different types of gene interaction. 

thu bUVjsD”ku ls vki D;k le>rs gSa\ fofo/k izdkj ds thu bUVjsD”kuksa ds ckjs esa crk;saA 

3. What is polyploidy?  Discuss its role in evolution.  

cgqxqf.krk D;k gS\ fodkl esaa blds egRo dh foospuk dhft,A 

 

[k.M & c    (Section – B) 

y?kq mRrjh; iz”u    (Short Answer Questions) 

vf/kdre vad% 12 

Maximum Marks: 12 

 

 uksV % izR;sd iz”u dk mRrj 200 ls 300 “kCnksa esa fy[ksaA lHkh ds vad leku gSaA 

 Note : Answer each  question  in 200 to 300 Words. All carry  equal marks.   

 

1. Describe molecular basis of mutation.  

  mRifjorZu ds vk.kfod vk/kkj dh foospuk dhft,A 

2.  What is gene interaction? In what ways it can modify the normal dihybrid ratio. 

thu bUVjSD”ku D;k gS\ ;g fdl izdkj ls lk/kkj.k f}ladjh; vuqikr dks cny ldrk gSA  

3- fuEufyf[kr ij fVIif.k;k¡ fyf[k;s (Write notes on the following.) 

(1) Operon Model (vksisjkWu ekWMy )  (2)  Oncogene (vkUdksthu)  

(3) Plastid inheritance (IykfLVM oa”kkxfr) 

4- Describe the structure of cell with suitable diagrams. Illustrate the significance of 

mitosis in organisms.  

dksf”kdk lsy dk lfp= o.kZu dhft,A lw=h foHkktu dh egRrk dks le>kb;sA  

               

  



mÙkj izns'k jktf"kZ V.Mu eqDr fo'ofo|ky;] bykgkckn 

 vf/kU;kl (Assignment)  2021-2022 

 

 

dkslZ 'kh"kZd %  

Course Title : Plant Physiology 

dkslZ dksM % ;w0th0ch0okbZ0 

Course Code: UGBY&08              vf/kdre vad% 30  

                                                         Maximum Marks: 30 

uksV % nksauksa [k.Mksa esa fn;s x;s lHkh iz”u vfuok;Z gSaA 

NOTE: All questions given in both the sections are compulsory. 
  [k.M & ^v*     (Section ‘A’) 

nh?kZ mRrjh; iz”u          (Long Answer Questions) 

vf/kdre vad% 18 

Maximum Marks: 18 

 
 uksV% izR;sd iz”u dk mRrj 500 ls 800 “kCnksa esa fy[ksaA lHkh ds vad leku gSA  

NOTE: Answer each question in 500 to 800 words. All carry equal marks. 

.  

1. Describe Embdem-Meyerhof pathway of Respiration (Glycolysis). 

   “olu ds ,sEMsuejgkQ ikFkos ds ckjs esa foLr`r tkudkjh nsaA ¼Xykbdksfyfll½  

2. Define photosynthesis? Give the mechanism and pathway of light reaction. 

 izdk”k la”ys’k.k ls vki D;k le>rs gSa\ izdk”k dky ds laj{k.k vkSj fØ;k fof/k dh tkudkjh 

nsaA 

3. Write short note on: 

fuEufyf[kr ij laf{kIr fVIi.kh dhft,A 

(1) Photoperiodism ¼ QksVksfifj;kfMTe) 

(2) What is diffusion pressure deficit (DPD) ¼Mh-ih-Mh- ls vki D;k le>rs gS½  

 

[k.M & c    (Section – B) 

y?kq mRrjh; iz”u    (Short Answer Questions) 

vf/kdre vad% 12 

Maximum Marks: 12 

 

 uksV % izR;sd iz”u dk mRrj 200 ls 300 “kCnksa esa fy[ksaA lHkh ds vad leku gSaA 

 Note : Answer each  question  in 200 to 300 Words. All carry  equal marks.   

 

1- fuEufyf[kr ij fVIif.k;k¡ fyf[k;s (Write notes on the following.) 

(1) Water Potential (tyh; foHko)  

(2)  Passive and active uptake (vfØ; ,oa lfØ; mn~xzg.k)  

2- What is ascent of sap? Give the most accepted theory of Ascent of Sap? 

          ,slUV ¼jlkjksg.k½ lSi ls vki D;k le>rs gSa\ bldh dkSu lh ekuh gqbZ Fk;ksjh gS\  

3- Describe C4 cycle.  

C4 pØ dk o.kZu dhft,A  

4- Describe mechanism of opening and closing of stomata. 

jU/kzksa ds [kqyus vkSj cUn gksus dh fØ;k dk o.kZu dhft,A 


